FELZF100m FE(SH15E+3)

# L—>  Fin— Y 1 BB 7

2 6 4030 Wi BmE SREF PR 14" 1 Q
1 3 4321 Bt B Bt 14" 3 Q
3 5 4277 XF Ex LB R 14" 3 Q
5 6 4001 KiF EBE LS dankeal 5 14" 6 Q
2 5 4177 = B ERPER 15”7 0 q
3 3 4172 HH FHE FERPER 15" 0 q
3 4 4007 WX BEXRA SREF PR 15”7 0 q
2 4 4199 BE BX FERPER 15" 1

5 3 4328 AIEF BT Byt R 15" 3

5 2 3914 S BX FHERFER 15" 4

5 4 4176 AR &N ERPER 15" 4

1 7 4179 hiE HEiE FERPER 15” 6

3 6 4171 EH #HF ERPER 15" 6

1 1 4102 [T KPR 15" 7

1 2 4157 wEHx %A ERPER 15" 7

3 7 4166 e FERPER 15" 9

5 7 4158 B # ERPER 16" 1

4 6 4164 X8 HIH ERPER 16” 2 Q
1 8 4150 IR EK ERPER 16" 8

2 8 4146 FH 5§ FERPER 16" 3

4 3 4165 @ BF ERPFR 16" 5

1 4 4005 EH A= LS dankeal 5 16" 6

2 7 4181 K HE ERPFR 16" 6

3 8 4192 it BETF FERPER 16" 6

4 7 3822 SOl 3CEE RIBPRFR 16" 6

4 8 4327 WA fnzE Byt 16" 8

5 8 3826 g 2K RIBPFR 17”7 0

2 2 4153 B Bk FERPER 17”1

4 2 4190 WA £ ERPER 17”9

1 5 4160 FH ORF ERPER DNS

1 6 4162 gl 87 ERPER DNS

2 3 4002 ETH 3K LS dankeal Y DNS

3 2 4143 BE @B ERPEFR DNS

4 4 3902 JtBR RiE FHERER DNS

4 5 4006 2R HES REF PR DNS

5 5 4322 NFE B Byt




HEELZF100miRBEHE

L=y | Foi— K £ R SERR IE 4L
1 4172 FeSTINE 323 ERPER 15”7 0
2 4177 =% B ERPER 15" 0
3 4277 RF EX A deek 2 14" 3
4 4030 WA HE RE PR 14" 1
5 4321 Ex B5D Bt 14" 3
6 4001 RiF 2R RE PR 14" 6
7 4007 WX BFRT REF PR 15”7 0
8 4164 X% HIH ERPER 16" 2




HEZLF  200m ZLALL—IHBE

L—>  FisN— £ 5 B E Z2E k- = /-1
4 4030 Wi HE SREF PR 3 28" 7 1
5 42717 KF ExX JepE s 3 28" 8 2
5 4275 EH ZE bR 3 30" 0 3
7 4001 Rig BiE LS dankeal 5 2 30" 6 4
2 4007 Ix BEFEA SREF PR 1 317 4 5
3 4171 EH #HF FERPER 3 31”9 6
6 3914 S EBX FHEREKR 3 32”0 7
5 4165 A EF FERPER 3 33”5 8
2 3822 SCfill 3CEE RIBPFR 3 34" 5 9
4 3902 JtHR R7E FHEHFER 3 DNS
3 4006 EH HES SREF PR 1 DNS
4 4164 X8 HIH ERPER 3 DNS
6 4177 2% B8 ERPER 2 DNS
2 4005 EH Rx LS dankeal 5 1 DNS
3 4160 M ORERF ERPER 3 DNS
6 4002 BTH 3K LS da ka5 2 DNS




HEZF 800m ZLALL—IHE

# L—>  FisN— £ = B E - 2= /-1
2 4 4162 A @i ERPER 2" 37" 3 1
2 2 4276 Mt FEx JepE 2" 49" 1 2
2 3 4325 B 5 il kol 2’ 49" 3 3
1 4 4167 = B BRPFR 2" 50" 4 4
1 3 3904 RE #HE FHEREKR 2’ 53" 8 5
1 2 3840 a5 EE RAPER 2’ 56" 3 6
1 1 4323 TR EHn Byt 3’ 00" 0 7
2 5 4102 g & KimP 2R 3" 00”1 8
2 1 3915 FE _Ef FHETEK DNS




